Short Answer Questions-I (PYQ)

[2 Mark]

Q.1.

Ans.

oo 2} 204
[2><1+3x(-2) 2><(—3)+3x4]_[_4 6]

5x1+7x(-2) 5x(-3)+7x4] [-9 =

—.

Equating the corresponding elements, we get
x=13

Q.2. Find the value of x +y from the following equation:

2[? y—53]+[i’ _24] :[11 164]

Ans.

(}i\'cn.2[$ 8 ]+[3 _4]=[7 6]
7T y—-3 1= 2 15 14

4 [2:7: 10 ]+[3 “4]:[7 6] N
14 2y—- 6 E 2 15 14

Equating the corresponding elements, we get

|

2r+3=7 and 2y— 4=14 = zzli—aandyz

= xX=2 and y=9
X+y=2+9=11

A:ll -1

Q.3. If matrix -11

Ans.

12 3 1 -3 -4 6 . ;
If = , then write the value of x.
5 71 |1-2 4 -0 z

2z+3
15

1414

——

] and A2 = kA, then write the value of k.

-4 6
-9 13

6

2y — 4

]z

|

3

7T 6

15 14

b

|



Given: A® = kA

= L3RR = BTl
aell i o ey S

5 <l 2=
22 1 19 , then find the value of x.

Q.4. If
Ans.

Given,

ki [3 i] [ini] 1 [(2:;81;3()1)]:[12]
- [

Equating the corresponding elements, we get

3x+4=19 and 3x=15
= 3Ix=19-4 3x=15
= 3x=15
b oL
A l?, —3]
Q.5. If matrix -3 3 | and AZ = AA, then write the value of A.

ANs.



Hcrc.Az[ 3 _3]
-3 3

Given, A = AA

SRR RS
RIS EUEE IS

Q.6. If Ais a square matrix such that A2 =1, then find the simplified value of
A=13+(A+I1)3-7A.

Ans.
We have A = [

Now, (A-N*+(A+0*-TA=A"-3A%1+3AFP - P+ A +3A%+3AFP + P -7A

2A4° + 6AFF - 7A

= 2A% + 6Al - TA [+ F =1
=2A. A+ 6A-TA [+ Al = A]
=2IA+6A-T7A [+ A* = 1]
=2A+6A-TA=A [ 1A = A]
0 26 -2
A=1]13 1 3
3a 3 -1

Q.7. Matrix is given to be symmetric, find values of a and b.

Ans.



0 20 -2
Wehave A=]3 1 3
3a 3 -1

A Is symmetric matrix

= AT= A
0 3 3a 0 2o -2
= 201 31=13 1 &
—2.:3 =% 3a. 3 -1

Equating both sides, we get

2b=3 and 3a=-2 = b=,§ and a = %
2 3
S B=|45
A:[ 4 9 5] 2 1 Ly
Q.8.If 34 and and BA = (bij), find b21 + b32.
Ans.
1 -2 3 - 3
We have, A = and 4 5
-4 2 5
2: 1
29 1 -2 3
RN b [ M- 5]
% 1 by = 2 x3
2-12 -4+6 6+15 -10 2 21
[b5] = —20 -8+10 12425 = [bg/=|-16 2 37
—-4+2 6+5 J3.3 —2 -2 11]3x3
N()\V, b>1 = - 16 b; =-2
by + by =-16-2=-18
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or Solve for z,[1 x/lf _21] l;] = [0].

AnNs.

Given: [ 1 z/[f —21] [;] = (0]

w11 z][2 "1] [;]=[0/ =

K 2
= 12+x-3+6.\']=]0]
= -14+7x=0
= 1::;
-1 0 -1 1

f/2 1 3/|-11 0 0
02. 01 1 -1
ANs.

=1 # =% 1
Given, A=f2 1 3]/|-11 0 0
032 & =1

=[-2-1+0 0+1+3 -2+0+3] l:

A=[-3+0-1]=[-4]

Q.3. Find the value of x and y if

[:v+10 y2+2y]_[3z+4 3 ]
0 -4 | | 0 ¢2-5y

Ans.

[242 —1+2z/[;]=/0]

= A, then find the value of A.

1 1
o}=/-3 4 1] [ o}
= ="



x+10=3x+4

= 3x-x=10-4

= 2x=6

= x=3

Also, y* - 5y =- 4

= ¥y -5y+4=0

= Wy =A) = Hy—4)=0
= y=4,1
From (f) and (i) y=1

fe,x=3and y=

9 .
and y +2y=3
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= }’2+3y’—y—3=0
= y(y+3)-1(y+3)=0
= (y+3)(y-1)=0

= y=1-3

= y"’—-*ty—y'+4=0

> (-4 (r-1)=0



[ 212

According to definition of equality of matrix

= a+b=6 and ab=8 = b=%
= at+i-6 = 48 —6

= a*+8=6a = a’-6a+8=0
= aZ-4a-2a+8=0

= aa-4)-2(a-4)=0 = (a-2)(a-4)=0
= =24 b=4,2

fe,ifa=2thenb=4 and ita=4thenb=2



